
5103R - CIRKELZAAG 270MM

1
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47

266083-2
224325-0
224326-8
912222-9
285681-3
316707-1
231804-1
211278-2
415437-2
415438-0
415438-0
415437-2
922422-3
253814-8
165134-7
344260-7
344303-5
911224-2
316709-7
322830-2
322827-1
231968-1
231969-9
226452-9
211104-5
961052-5
272230-5
231955-0
252141-0
911263-2
266041-8
182773-8
415440-3
231230-4
415439-8
651923-1
651941-9
631209-9
182773-8
331469-0
253814-8
232151-3
266019-1
265995-6
687063-9
682503-2
P-12924

Imbusbout M10X25
Buitenflens 45 5103R
Binnenflens 45 5103R
Verzonken Schroef M5X16
Lagerborging 34-62 5103R
Verende Beschermkap 5103R
Trekveer 6 5103R
Kogellager 6203
Geleidewielpen 6 5903R
Geleidewiel Verende Kap 5903R
Geleidewiel Verende Kap 5903R
Geleidewielpen 6 5903R
Imbusbout 8X16
Sluitring 8
Spouwmes 5103R
Spouwmeshouder 5103R
Opvulring 5103R
Schroef 5X16 A
Lagerhuis 5103R
Borgingsbus 5103R
Zaagas 5103R
Borgveer 27  5103R
Borgveer 20  5103R
Tandwiel 39 5103R
Kogellager 6001
Borgring S-12
Vergrendelhefboom 5903R
Borgveer 12
Zeskantmoer 5603 5703 5903R 
Schroef 5X40
Tapschroef 5X25 P
Handgreep Set 5103R
Ontgrendelknop 5903R
Drukveer 4 5903R
Schakelaardrukknop 5903R
Schakelaar Sw-127 6519231
Schakelaar Ls1013
Controle Unit 5103R
Handgreep Set 5103R
Bus 9  5103R
Sluitring 8
Bladveer 5103R
Bout 8X98 5903R
Tapschroef 4x18
Draadklem Hp1500
Kabeltule 8-90
Kabel 3 Meter 2X1

15
21
22

1
15
34

8
20

1
1
1
1
2
1

35
25
13

1
29
33
30
25
20
32
14

1
8
2

11
1
2

30
5
1
7

23
11
45
30

8
1

10
8
1
3
6

21

NR PRIJS-
GROEP

ART. NR OMSCHRIJVING

48
49
50
51
52
54
55
56
57
58
59
60
61
62
63
64
65
67
68
69
70
71
72
73
74
75
76
77
78
79
80
81
82
83
84
85
86
87
88
89
90
91
92
93
94
95

152499-6
443098-8
344263-1
316705-5
266036-1
344261-5
233084-5
266034-5
687053-2
262007-6
268008-2
211236-8
241889-9
415768-9
516653-0
266059-9
636113-7
911288-6
643710-2
191953-5
159843-8
211092-6
681633-6
316779-6
266039-5
265028-7
152511-2
921477-5
415722-3
816128-2
265995-6
252626-6
941201-0
265726-3
911108-4
415433-0
256231-1
266112-1
266039-5
265993-0
316706-3
316708-9
951210-1
921342-8
941151-9
934301-3

Vaste Beschermkap 5103R
Viltje 5103R
Plaatje 5103R
Afdekkap Voor Vaste Kap 5103R
Tapschroef Ct5X20
Blokkeer Pen 5103R
Drukveer 6 5903R
Tapschroef Ct4X16
Klemstrip
Rubber Ring 8 5903R
Pin 10
Kogellager 6002Ddw 
Waaier 74 5903R
Tussenplaat 5903R
Anker 5103R
Zelftappende Schroef Pt M5X75
Veld 5103R
Schroef 5X65
Koolborsteldop Hm1800 Nieuw
Koolborstel Set Cb-203
Motorhuis 5103R
Kogellager 629Ddw
Isolatiering 5903R
Hoekgeleider 5103R
Imbusbout M6X6
Kruiskop Schroef M4X11
Handel 5103R
Zeskantbout M8X55
Dieptegeleider 5103R
Indicatieplaat 5903R
Tapschroef 4x18
Moer M8
Sluitring M8
Vleugelbout 6X15
Schroef M4X8
Zaagaanduidingsplaatje 5903R
Pen 6
Tapschroef 5X20 A
Imbusbout M6X6
Stelschroef M4X5
Voetzool 5103R
Dieptegeleider 5103R
Spanstift 6-20
Zeskantbout M6X25
Sluitring M6
Vleugelmoer

46
1
5

31
1

14
1
1
3
3
9

20
15
10
47
5

36
2
5

17
43
14
7

28
2
5

18
3

23
3
1
9
1
4
1
3
2
1
2
2

44
28
1
1
1
3

NR PRIJS-
GROEP

ART. NR OMSCHRIJVING02-2002

37 schakelaar voor remspoel


